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Section Id : 686340209
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Question Id : 68634010537 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634010538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 01 GHT ST
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Options :

68634041601. 1
68634041602. 2
68634041603. 3
68634041604. 4
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Question Number : 2 Question Id : 68634010539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041605. 1

68634041606. 2

68634041607. 3
68634041608. 4



Question Number : 3 Question Id : 68634010540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. afe e TS BT <Y gIa al
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Options :

68634041609. 1
68634041610. 2
68634041611. 3
68634041612. 4

Question Number : 4 Question Id : 68634010541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041613. 1
68634041614. 2
68634041615. 3
68634041616. 4

Question Number : 5 Question Id : 68634010542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041617. 1
68634041618. 2
68634041619. 3
68634041620. 4

Question Id : 68634010537 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634010538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiadl B THNIG HUDPR ©-
1. 41 §OTSl §9H1
2. U &1 Y0l gHI
3. Sila &1 e FHAI
4. 5 A DI Tl
Options :

68634041601. 1
68634041602. 2



68634041603. 3
68634041604. 4

Question Number : 2 Question Id : 68634010539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
®id &1 HH gury Siia &1 widfdfad H31 81 gia1 dl a8 [y gol g! Uidl-
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Options :

68634041605. 1
68634041606. 2
68634041607. 3
68634041608. 4

Question Number : 3 Question Id : 68634010540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IS gqa- & d1d i Tel 36l 2
1. afg gl Bl gia
2. i ¥ § HiedPdR I5d dl
3. gfe e S 1 Y0 gIaT al
4, 3R] DI T Hel gl dl

Options :

68634041609. 1
68634041610. 2
68634041611. 3
68634041612. 4

Question Number : 4 Question Id : 68634010541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041613. 1
68634041614. 2
68634041615. 3
68634041616. 4

Question Number : 5 Question Id : 68634010542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

T O & 994 9 PR [GER W & S fbuem §-

1. aTcH i
2. gorafd
3.Rq
4. HI]

Options :

68634041617. 1

68634041618. 2

68634041619. 3
68634041620. 4

Sub-Section Number : 2
Sub-Section Id : 686340352
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634010543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el wes A wH- 9 &-
1. U i

2. U
3. 3Tie gy

4. 9fg 9=

Options :

68634041621. 1
68634041622. 2
68634041623. 3
68634041624. 4

Question Number : 6 Question Id : 68634010543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HelN ¥eg § oi-4l 9 §-
1. U i

2. TR
3. 3mfe i

4. gfg af=

Options :

68634041621. 1
68634041622. 2
68634041623. 3
68634041624. 4

Question Number : 7 Question Id : 68634010544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. $da D, C.A. B
3. PddB.A.E
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Options :

68634041625. 1
68634041626. 2
68634041627. 3
68634041628. 4

Question Number : 7 Question Id : 68634010544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041625. 1
68634041626. 2
68634041627. 3



68634041628. 4

Question Number : 8 Question Id : 68634010545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. ST
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Options :

68634041629. 1

68634041630. 2

68634041631. 3
68634041632. 4

Question Number : 8 Question Id : 68634010545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041629. 1

68634041630. 2

68634041631. 3
68634041632. 4

Question Number : 9 Question Id : 68634010546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041633. 1
68634041634. 2
68634041635. 3
68634041636. 4

Question Number : 9 Question Id : 68634010546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
agsiie T &1 9e T &
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 Hfd8R
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[
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4. HIgR
Options :
68634041633. 1
68634041634. 2

68634041635. 3
68634041636. 4

Question Number : 10 Question Id : 68634010547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o SR T A 3 A SR @l g1 § SeeR B
1. gH®
2. XY
3. AN
4. It

Options :



68634041637. 1
68634041638. 2
68634041639. 3
68634041640. 4

Question Number : 10 Question Id : 68634010547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR @ § e R A g1 H e g
1. JH$

2. %oy

3. SU
4. 3ifdd

Options :

68634041637. 1
68634041638.2
68634041639. 3
68634041640. 4

Question Number : 11 Question Id : 68634010548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041641. 1
68634041642.2
68634041643. 3
68634041644. 4

Question Number : 11 Question Id : 68634010548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634041641. 1
68634041642. 2
68634041643. 3
68634041644. 4

Question Number : 12 Question Id : 68634010549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041645. 1
68634041646. 2
68634041647. 3
68634041648. 4

Question Number : 12 Question Id : 68634010549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041645. 1
68634041646. 2
68634041647. 3
68634041648. 4

Question Number : 13 Question Id : 68634010550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041649.
68634041650.
68634041651.
68634041652.
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Question Number : 13 Question Id : 68634010550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634041650. 2
68634041651. 3
68634041652. 4

Question Number : 14 Question Id : 68634010551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 3 U f4U T §: U@ SHIUPHUT (Assertion A) & $9 H [0Ed & T THRT 39D HRUT (Reason R) & T
af

STIHYT A: IS 3T T & S T 125:64 BT 91 &. dl 370 Y¥Ig &3%d H 25:16 I 31T SHT|

. _ ) o i 2
DR R: Al &I TMal & AT v, aUT v, & R 376 gHig 89%¢ 5 S, HQJTSZ%',FHL=| y

-|
8

SWRIgd BY & el H, i U U fae el o 9 999 Suged 9Tk &1 98- Sifle:

1) 3
Vy

1. A SRR I T8I 8 IR R. A I Tg! RS &

2. A SRR M T § IR R, A B! T o el ®

3. ATE AP R TSI TR R
4. ATE TS T AP R UE R

Options :

68634041653. 1
68634041654. 2
68634041655. 3
68634041656. 4

Question Number : 14 Question Id : 68634010551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041653. 1
68634041654. 2
68634041655. 3
68634041656. 4
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Question Number : 15 Question Id : 68634010552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041657. 1
68634041658. 2
68634041659. 3
68634041660. 4

Question Number : 15 Question Id : 68634010552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634041657. 1
68634041658. 2
68634041659. 3
68634041660. 4

Question Number : 16 Question Id : 68634010553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041661. 1
68634041662. 2
68634041663. 3
68634041664. 4

Question Number : 16 Question Id : 68634010553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041661. 1
68634041662. 2
68634041663. 3
68634041664. 4

Question Number : 17 Question Id : 68634010554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041665. 1
68634041666. 2
68634041667. 3
68634041668. 4

Question Number : 17 Question Id : 68634010554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634041665. 1
68634041666. 2
68634041667. 3
68634041668. 4

Question Number : 18 Question Id : 68634010555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ABIUABFITHE. C.ADI IS SR D. B BT 51 D, C I b THR J&idd &7
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Options :

68634041669. 1
68634041670. 2
68634041671. 3
68634041672. 4

Question Number : 18 Question Id : 68634010555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041669. 1
68634041670. 2
68634041671. 3
68634041672. 4

Question Number : 19 Question Id : 68634010556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041673. 1
68634041674. 2
68634041675. 3
68634041676. 4

Question Number : 19 Question Id : 68634010556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeiRad e g o R ifey|
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[ ]
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Options :

68634041673. 1
68634041674. 2
68634041675. 3
68634041676. 4

Question Number : 20 Question Id : 68634010557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041677. 1
68634041678. 2
68634041679. 3
68634041680. 4

Question Number : 20 Question Id : 68634010557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 3¢ Fad 1 safed §
2. 1fe Sad 11 aied &
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Options :

68634041677. 1
68634041678. 2
68634041679. 3
68634041680. 4




Question Number : 21 Question Id : 68634010558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 9=t 11 9 e Sifey
veitsnickicee G R TGIEED)

A TG I [[&i¥cEe @H

B. FreTs 11 Rig=i®T

C. AR 111 [315ig 3l @

D. [dadl IV. [<Tehe 5

fAafaRad faeedi O I Ugt SR &1 99 SIfor

1. A-IV. B-1. C-II, D-III
2. A-IL B-1. C-IV. D-II
3. A-III, B-1, C-II, DIV
4. A-1, B-I1I, C-II. D-IV

Options :

68634041681. 1
68634041682. 2
68634041683. 3
68634041684. 4

Question Number : 21 Question Id : 68634010558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

= 1 (S g g9 1 (@1e®)
A [g 1. |[[Rf e B e
B. [preas 11. Rfa=idy

C. [Rar 111 [35%Te 3l @
D. [d9dl IV. [T1ieh g4

frafafad foweal & O ugt SR 1 9ga oifo
1. A-IV, B-I, C-II. D-III
2. A-IIL, B-L, C-IV, D-II
3. A-III, B-I, C-II, DIV
4. A-I, B-III, C-II, D-IV
Options :

68634041681. 1
68634041682. 2



68634041683. 3
68634041684. 4

Question Number : 22 Question Id : 68634010559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. BYUF T AR 11 S Tl &
2. BYT1 IR 11 S TTed §
3. DY TG 6. Al HYF 117 ©
4. BT 17T ©, AT S 1 TET §

Options :

68634041685. 1
68634041686. 2
68634041687. 3
68634041688. 4

Question Number : 22 Question Id : 68634010559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. BYUF T AR 11 S Tl &
2. BYA T IR G Ted &
3. DY TG 6. Al HYF 117 ©
4. DY 1T107d 5. A= DY 1T Hel §

Options :

68634041685. 1
68634041686. 2
68634041687. 3
68634041688. 4

Question Number : 23 Question Id : 68634010560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. BYUF T AR 11 S Tl &
2. B 1 AR I 1 Tad §
3. DY TG 6. Al HYF 117 ©
4. BYF 17T0d &, Al HU I 981 &

Options :

68634041689. 1
68634041690. 2
68634041691. 3
68634041692. 4



Question Number : 23 Question Id : 68634010560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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JURIad DYl & et |, i 4T U [ddhedl 9 98! SR &1 999 DIl

1. B AR IS 981§
2. BYT 1 R 11 S TTed &
3. YT TG §. b HYA 11 7T0d ©
4. TYT 17T &, AT B 1 T §

Options :

68634041689. 1
68634041690. 2
68634041691. 3
68634041692. 4

Question Number : 24 Question Id : 68634010561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR HGUH BT D41 w58 ald Haiad 8 Jul ARG ! B FHH Sa¥R Uad Hdl g7
1. =g 22

TS 16

3. 3G 20

4. AT=e
Options :
68634041693. 1
68634041694. 2

68634041695. 3
68634041696. 4

| )
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Question Number : 24 Question Id : 68634010561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR AU BT B1H-41 sgw5g ald A § 91l ARIRS! B GHH SaeR Yad odl 87
1. =g 22

TS 16

3. T4 20

4, 34
Options :
68634041693, 1
68634041694. 2

68634041695. 3
68634041696. 4
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Question Number : 25 Question Id : 68634010562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sfafdgddl EFaus)| IV, [3fgdd g

fFafaRad fadedl & 9 981 3t &1 99+ Hifulu

1. A-III. B-I. C-II. D-IV

Olo|w]*=

2. AL B-IV. C-1II. D-III
3. A-IV. B-1. C-1II. D-II
4. A-IV. B-I. C-1II, D-III

Options :

68634041697. 1
68634041698. 2
68634041699. 3
68634041700. 4

Question Number : 25 Question Id : 68634010562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-III, B-1. C-II. D-IV
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2. A-1. B-TV. C-I1. D-TII
3. A-IV. B-1. C-I11. D-II
4. A-TV. B-1. C-I1. D-III

Options :

68634041697. 1

68634041698. 2

68634041699. 3
68634041700. 4

Part B: LLM

Section Id : 686340210
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340353
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634010563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Partnership Act. 1932 does not work under which of the following principle

1. Limited lLiablity

| B

. Greatest common advantage
3. Good faith
4. Due diligence

Options :

68634041701. 1
68634041702. 2
68634041703. 3
68634041704. 4

Question Number : 26 Question Id : 68634010563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041701. 1
68634041702. 2
68634041703. 3
68634041704. 4

Question Number : 27 Question Id : 68634010564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The famous (case) of Hadley v. Baxendall (1854) is related to :

1. Damages for breach of contract

[ )

. Doctrine of quantum merit
3. Commercial Hardship

4. Doctrine of Frustration

Options :
68634041705. 1



68634041706. 2
68634041707. 3
68634041708. 4

Question Number : 27 Question Id : 68634010564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041705. 1
68634041706. 2
68634041707. 3
68634041708. 4

Question Number : 28 Question Id : 68634010565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following maxim does not belong to Law of Torts

1. mjuria sine damno

[ B

. Volenti non fit injuria

LF%]

. Ut lite pendent ninil innoveteur
4. Quui feit per alium facit per se

Options :

68634041709. 1
68634041710. 2
68634041711. 3
68634041712. 4

Question Number : 28 Question Id : 68634010565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041709. 1
68634041710. 2
68634041711. 3
68634041712. 4

Question Number : 29 Question Id : 68634010566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following does not come within Law of Tort

1. Negligence

[ B

. Vicarious liability

L]

. Culpable Homicide
4. Nuisance

Options :

68634041713. 1

68634041714. 2

68634041715.3
68634041716. 4

Question Number : 29 Question Id : 68634010566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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e o
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L
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Options :



68634041713. 1
68634041714. 2
68634041715.3
68634041716. 4

Question Number : 30 Question Id : 68634010567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

President rule under Article 356 can be imposed, in a state for maximum period of :

1. 2 Years

(B

. 3 Years
3. 12 Months
4. One Year
Options :
68634041717. 1
68634041718. 2

68634041719. 3
68634041720. 4

Question Number : 30 Question Id : 68634010567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041717. 1
68634041718. 2
68634041719. 3
68634041720. 4

Question Number : 31 Question Id : 68634010568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which case. it was observed for the first time by the Supreme Court that equality is antithetic to
arbitrariness.

1. Air India v. Nargesh Meerza & Others

2. A. D. M. Jabalpur v. Shivakant Shukla.

3. Navtej Singh Johar v. Union of India.

4. E. P. Royappa v. State of Tamil Nadu and others
Options :
68634041721. 1
68634041722. 2

68634041723.3
68634041724. 4

Question Number : 31 Question Id : 68634010568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferg arg o Ul aR I=ad e A fewult € o s FRewar & fTwia g -
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Options :

68634041721. 1
68634041722. 2
68634041723. 3
68634041724. 4

Question Number : 32 Question Id : 68634010569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which condition is need not to satisty for religious denominations :

1. It must have a common organisation.

[ )

. It must be designated by a distinctive name
3. It must be recognized by state

4. It must be collection of individuals who have a system of belief which they regard as conducive to their
spiritual well being.



Options :

68634041725. 1
68634041726. 2
68634041727. 3
68634041728. 4

Question Number : 32 Question Id : 68634010569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e i & fore o5 21 1 OR1 S 1911 a0 ol o7
1. BT T YT1é4 51 91feU
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Options :

68634041725. 1
68634041726. 2
68634041727. 3
68634041728. 4

Question Number : 33 Question Id : 68634010570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following case is not related with the Tribunals in India.
1. Sampat Kumar v. Union of India
2. L. Chandra Kumar v. Union of India
3. Om Kumar v. Union of India

4. Roser Mathew v. South Indian Bank

Options :

68634041729. 1
68634041730. 2
68634041731.3
68634041732. 4

Question Number : 33 Question Id : 68634010570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041729. 1
68634041730. 2
68634041731. 3
68634041732. 4

Question Number : 34 Question Id : 68634010571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following Constitutional Amendment was not challenged in M. Nagraj v. Union of India

1. 77™ Constitutional Amendment

| B

. 815 Constitutional Amendment
3. 85™ Constitutional Amendment

4. 86™ Constitutional Amendment

Options :

68634041733. 1
68634041734. 2
68634041735. 3
68634041736. 4

Question Number : 34 Question Id : 68634010571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634041733. 1
68634041734. 2
68634041735.3
68634041736. 4

Question Number : 35 Question Id : 68634010572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Anrticle 33 of the Constitution of India empowers parliament to -

1. Enforce Fundamental Rights under Part ITI of the constitution.

(B

. Impose Martial Law

3. Declare National Emergency

e

. Modify Fundamental Rights in relation to Armed Forces

Options :

68634041737. 1
68634041738. 2
68634041739. 3
68634041740. 4

Question Number : 35 Question Id : 68634010572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041737. 1
68634041738. 2
68634041739. 3
68634041740. 4

Question Number : 36 Question Id : 68634010573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following case is known as ot schedule case.

1. Minervas Mills v. Union of India

2. S. P. Gupta v. Union of India
3. Maneka Gandhi v. Union of India

4. 1. R. Coelho v. State of Tamil Nadu

Options :

68634041741. 1
68634041742. 2
68634041743. 3
68634041744. 4

Question Number : 36 Question Id : 68634010573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041741. 1
68634041742. 2
68634041743. 3
68634041744. 4

e

Question Number : 37 Question Id : 68634010574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following decision of Supreme Court does not deal with Uniform Civil Code

1. Mohd. Ahmed Khan v. Shah Bano

| B

. Selviv. State of Karnataka
3. Sarla Mudgal v. Union of India

4. John Vallamattom v. Union of India

Options :
68634041745. 1



68634041746. 2
68634041747. 3
68634041748. 4

Question Number : 37 Question Id : 68634010574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041745. 1
68634041746. 2
68634041747. 3
68634041748. 4

Question Number : 38 Question Id : 68634010575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Lokpal and Lokayukta Act. 2013 came into force in :

1. 12 December 2013

| B

. 26 December 2013
3. 15 January 2014
4. 16 January 2014

Options :

68634041749. 1
68634041750. 2
68634041751. 3
68634041752. 4

Question Number : 38 Question Id : 68634010575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 12 fegmaR 2013

.26 T&ETaR 2013

3. 15 OFTGRI 2014

4. 16 SFGR] 2014

Options :

68634041749. 1
68634041750. 2
68634041751. 3
68634041752. 4

| )

Question Number : 39 Question Id : 68634010576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following case 1s bible on the delegated legislation.

1. R. v. Burah

| )

. Mohini Jain v. State of Karnataka.
3. 8. P. Mittal v. Union of India
4. In re Delhi Laws Act.

Options :

68634041753. 1

68634041754. 2

68634041755.3
68634041756. 4

Question Number : 39 Question Id : 68634010576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634041753. 1
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68634041754. 2
68634041755.3
68634041756. 4

Question Number : 40 Question Id : 68634010577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the form of divorce which has been struck down by the Supreme Court in Shayara Bano v. Union of
India.

1. Talaq -e-hasan

. Talaq - e- sunna

[ ]

L¥%]

. Talaq - e- biddat
4. Talaq - e- tafweez

Options :

68634041757. 1
68634041758. 2
68634041759. 3
68634041760. 4

Question Number : 40 Question Id : 68634010577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634041757. 1
68634041758. 2
68634041759. 3
68634041760. 4

Question Number : 41 Question Id : 68634010578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The provision related to Plea Bargaining added to Cr. P. C, 1973 by Criminal Law (Amendment) Act 2006 are.

1. Section 265A to M.

| B

. Section 265A to L
3. Section 265A to J

4. Section 265At0 K

Options :

68634041761. 1
68634041762. 2
68634041763. 3
68634041764. 4

Question Number : 41 Question Id : 68634010578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; fafer (e fUfaH 2006 R TSR, 1073 T SIS 70 &@R=AT Ge gt 9 Safid
RASGEI I+

1. §RT265A T M.

CURT265AT L

| )

3. URT265A 9 T
4. YRT265A9 K

Options :

68634041761. 1
68634041762. 2
68634041763. 3
68634041764. 4

Question Number : 42 Question Id : 68634010579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of following. which case is not related to rights of arrested person.

1. Jogendra Kumar v. State of Uttar Pradesh.

[ )

. D. K. Basu v. State of West Bengal

L]

. Arnesh Kumar v. State of Bihar
4. Bachhan Singh v. State of Punjab

Options :



68634041765. 1
68634041766. 2
68634041767. 3
68634041768. 4

Question Number : 42 Question Id : 68634010579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafaied ¥ 3 o 91 ag FRER 3 710 oofdd & iRl € Haftd 781 82

1. S HHR §-H FTR U= oY

| )

S . §Y §T1H UigH §7e ey

[#%]

| 3R HHR G4 T

4. =9 g 9919 Uod I

Options :

68634041765. 1
68634041766. 2
68634041767. 3
68634041768. 4

Question Number : 43 Question Id : 68634010580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following jurists has divided the formal sources and material sources ?

1. Allen

| )

. Keeton
3. Salmond
4. Savigny

Options :

68634041769. 1
68634041770. 2
68634041771. 3
68634041772. 4

Question Number : 43 Question Id : 68634010580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafaa & 9 g Tmfae 3 sigeie gial sk Yifde St @1 favrs fear .

_Preg

AR INESESE

4. gfawlt

Options :

68634041769. 1
68634041770. 2
68634041771. 3
68634041772. 4

| )

Question Number : 44 Question Id : 68634010581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who 15 called as 'Darwinian before Darwin'.

1. Austin

| )

. Mame
3. Pucta
4. Savigny
Options :
68634041773. 1
68634041774. 2

68634041775. 3
68634041776. 4

Question Number : 44 Question Id : 68634010581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ford STfd 9 Ugd SIfd-gw &gl 9l 87
1. 3R
Ric
il
4. Qfadt

Options :
68634041773. 1

| )

[#5]



68634041774. 2
68634041775. 3
68634041776. 4

Question Number : 45 Question Id : 68634010582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of the following, which 1s not a duty of an advocate :

1. To respect the Court

| )

. To refuse to represent clients who ingist on adopting unfair means
3. To communicate with a Tudge in private
4. Not to instigate litigation,

Options :

68634041777. 1
68634041778. 2
68634041779. 3
68634041780. 4

Question Number : 45 Question Id : 68634010582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafetad 5 9 o 1 sifiaed &1 $dod el 82

1. <ATaTeTd BT T ST
. 3 Il D1 3T UR SR <7 9T gafghal &l Ui S d 7 Sl
gt 9 Felt =9 O 9uigo @A)

4, a1g (fafeTrer ) ot ufvd e &ear

Options :
68634041777. 1
68634041778 2

68634041779. 3
68634041780. 4

| )

(5]

Question Number : 46 Question Id : 68634010583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The theory "Only individuals are the subjects of international law” 1s propounded by :

1. Starke

| )

. Oppenhicum
3. Kelsen
4. Fenwic

Options :

68634041781. 1
68634041782. 2
68634041783. 3
68634041784. 4

Question Number : 46 Question Id : 68634010583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"ad ofad ol SiaRIpIafaly & fava g Rugia ferges g foam .

1. Wl
3. had
4. Bfa®

Options :

68634041781. 1

68634041782.2

68634041783. 3
68634041784. 4

| ]

Question Number : 47 Question Id : 68634010584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following year the U. N. General Assembly has created the position of U. N. High
Commissioner.

1. 1946

| )

. 1948
3. 1993
4. 2008

Options :
68634041785. 1



68634041786. 2
68634041787. 3
68634041788. 4

Question Number : 47 Question Id : 68634010584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiaa @ O fod au gua gemyn 3 guH S=red & Ug ol Haf fean

1. 1946

|

. 1948
3.1993
4. 2008

Options :

68634041785. 1
68634041786. 2
68634041787. 3
68634041788. 4

Question Number : 48 Question Id : 68634010585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The International Covenant on Economic. Social and Cultural Rights is consisted of Articles which
are divided in parts.

1. 21 Articles ; 5 parts

[ ]

.41 Articles ; 8 parts
3. 31 Articles ; 5 parts
4. 35 Articles : 8 parts

Options :

68634041789. 1
68634041790. 2
68634041791. 3
68634041792. 4

Question Number : 48 Question Id : 68634010585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3nfife, Ao ok aiRgiaew sfteRi dad siaifh siftmm 3wsel 4 feaR a1 8. o1l
T # fqufora 21
1. 21 3w5e; 5 HIT

.41 354 8 HITT

3.31 3Jw54; 5 Y

4. 35 354 8 HIT
Options :
68634041789. 1
68634041790. 2

68634041791. 3
68634041792. 4

| )

Question Number : 49 Question Id : 68634010586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following case, the Supreme Court has held that the states cannot be directed to publish charge
sheet and final reports on state's websites for public access?

1. Anjali Bhardwaj and others v. Union of India (2019)

]

2. Central Public Information Officer, Supreme Court of India v. Subhash Chandra Agrawal (2020)
3. Saurva Das v. Umion of India (2023)
4. Advocate Union for Democracy and Social Justice v. High Court of Madhya Pradesh (2023).

Options :

68634041793. 1
68634041794. 2
68634041795. 3
68634041796. 4

Question Number : 49 Question Id : 68634010586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafafad ¥ O fog 91e § S=dd I 5 coawy1 2f {6 Ied) &1 39+ dedTge] UR oi-dl & forg
Treigiet 3R sifgw frdief & v & fau g 78 e s gears?

1. 3fTelt YRGS 3R 30 S99 YR 99 (2019)

2. D1y Wi YT HUPRT, HRd BT F=add g F-1H UV 95 HTaTd (2020)

3. ¥R &Y &1 YR 99 (2023)
4, QA 3R TS g & e Sifaedr T a0 980 Ue1 9= UEmed (2023).

Options :

68634041793. 1
68634041794. 2
68634041795. 3
68634041796. 4

Question Number : 50 Question Id : 68634010587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following provision of Right to Information Act. deals with the definition of term 'information' ?

1. 2(f)

[ )
d
~—
=]
L

3.2(h)
4. 2()

Options :

68634041797. 1
68634041798. 2
68634041799. 3
68634041800. 4

Question Number : 50 Question Id : 68634010587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 iR ififan o1 Fafifea 3§ 3 $F 91 Suasl g1 Uss ot oiku § Jafa g
1. 2(1)

b2

. 2(g)
3. 2(h)
4.2(3)

Options :



68634041797. 1
68634041798. 2
68634041799. 3
68634041800. 4

Question Number : 51 Question Id : 68634010588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Application for setting aside arbitral award i1s made under section of the Arbitration and
Conciliation Act, 1996 ?

1. Section - 30

el

2. Section - 34
3. Section - 33

4. Section - 24

Options :

68634041801. 1
68634041802. 2
68634041803. 3
68634041804. 4

Question Number : 51 Question Id : 68634010588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIewyy 3R gae S, 1006 S YIRT & SiTTd BTy Y (a0 &1 U a- &1
3H1de- foar Srar g |

1. §RI- 30
2. 4RT- 34
3.8 -33
4. YRT-24
Options :
68634041801. 1
68634041802. 2

68634041803. 3
68634041804. 4

Question Number : 52 Question Id : 68634010589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which 1s the most appropriate mode of Alternative Dispute Resolution (ADR) to resolve matrimonial disputes

1. Arbitration

| B

. Negotiation

LF¥]

. Mediation

4, Conciliation

Options :

68634041805. 1
68634041806. 2
68634041807. 3
68634041808. 4

Question Number : 52 Question Id : 68634010589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dalfe® faarel & FHIUH & iU doicud faaTg SHTeT (TSIR) B 9ad 3fud fafd 1 g
. TR
CIGEIG]

CHERT

| )

[#%]

4. Jde
Options :
68634041805. 1
68634041806. 2

68634041807. 3
68634041808. 4

Question Number : 53 Question Id : 68634010590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is correct about the law of limitation.
1. It bars the extra judicial remedy
2. It 15 a substantive law
3. It extinguishes the right

4. It bars the remedy

Options :
68634041809. 1



68634041810. 2
68634041811. 3
68634041812. 4

Question Number : 53 Question Id : 68634010590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad @ 3§ oF w1 iRl &t ol & aR § 981 5
1. T8 AR STER $I WfGafid Hear g

g vyl faf g1
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[ ]

L]

e

Options :

68634041809. 1
68634041810. 2
68634041811. 3
68634041812. 4

Question Number : 54 Question Id : 68634010591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Term of Patent is defined in :

1. Section 53 of the Patent Act. 1970

| B

. Section 54 of the Patent Act, 1970
3. Section 55 of the Patent Act, 1970
4. Section 56 of the Patent Act, 1970

Options :

68634041813. 1
68634041814. 2
68634041815. 3
68634041816. 4

Question Number : 54 Question Id : 68634010591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U¢e Teq 1 ARMTI B :

1. 9 fffad. 1970 &t URT 53
. gée ffam. 1970 B 4R 54
. gde HfUfd. 1970 Bt URT 55
4, Uce fEHTH, 1970 DT YRT 56

| )

L

Options :

68634041813. 1
68634041814. 2
68634041815. 3
68634041816. 4

Question Number : 55 Question Id : 68634010592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The term Criminology was coined by

1. Lambroso

| )

. Beeler
3. Raffaele Garafalo

4, Beccaria

Options :

68634041817. 1
68634041818. 2
68634041819. 3
68634041820. 4

Question Number : 55 Question Id : 68634010592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HURTYRITE g fb faar -
1. TR
2. g%
3. el RISl
4. dap1RA

Options :
68634041817. 1



68634041818. 2
68634041819. 3
68634041820. 4

Question Number : 56 Question Id : 68634010593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who is said to be the father of Parole
1. Beccaria
2. Becker
3. Lambroso

4. Alexander Maconochies

Options :

68634041821. 1
68634041822. 2
68634041823. 3
68634041824. 4

Question Number : 56 Question Id : 68634010593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WRid &1 fud fed de1 o @ -
1. STl
A Gy
TR

[

L

4, Toigai Y Haag

Options :

68634041821. 1
68634041822. 2
68634041823. 3
68634041824. 4

Question Number : 57 Question Id : 68634010594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following Section of Juvenile Justice Act. 2015 provides that where an offence under the
Tuvenile Justice (Care and Protection of Children) Act, 2015 is punishable with imprisonment for a term more
than seven years. then such offence shall be cognizable and non bailable.

[y

. Section 2 (54)
2. Section 24
3. Section 76

4. Section 86

Options :

68634041825. 1
68634041826. 2
68634041827. 3
68634041828. 4

Question Number : 57 Question Id : 68634010594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PR = SHRIfaH Uae 2015 3 FEfRET § 9 59 yR1 & e § o ofel [k =g (@ee! &1
ST IR TREUN) AT 2015 & SATTd DIS URIY TS Fid T F A0S P HRIGE T GUS1 &L, ol
U7 3ORTe T3 3fR TR-GTHT 81

1. YRT 2 (54)

2. YRT 24

3.URI76

4. YT 86

Options :

68634041825. 1
68634041826. 2
68634041827. 3
68634041828. 4

Question Number : 58 Question Id : 68634010595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which law provides for the "victim compensation' in India.

1. Indian Penal Code. 1960

| B

. Code of Criminal Procedure, 1973
3. Indian Evidence Act. 1872
4. Information Technology Act. 2000
Options :
68634041829. 1
68634041830. 2

68634041831. 3
68634041832. 4

Question Number : 58 Question Id : 68634010595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S [afer YRa H Uifsd gaas &1 Suas Sl ol
1. YR 508 Higdl. 1960
. TORTfE Ufchar Hfgdl, 1973
3. HRAIg F1eg fafrm, 1872
YRR g1 W] g, 2000

| ]

S

Options :

68634041829. 1
68634041830. 2
68634041831. 3
68634041832. 4

Question Number : 59 Question Id : 68634010596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is a horizontal agreement in the Competition Act, 2002

1. Resale price maintenance

| )

. Tie in agreement
3. Cartel
4. Purchase price maintenance

Options :
68634041833. 1



68634041834. 2
68634041835. 3
68634041836. 4

Question Number : 59 Question Id : 68634010596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafafaa & 9 o= w1 i sififam, 2002 T &fos aosiar g2
AT T 3@
 qHE ¥ gay
TS (PTea)

%0 O TEREd
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e

Options :

68634041833. 1
68634041834. 2
68634041835. 3
68634041836. 4

Question Number : 60 Question Id : 68634010597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Rule of 'gjusdem generis' means.

1. The words of the statute should be understood in strict consonance with its objectives

2

. The words of the statute should be understood in logical manner.
3. The words of the statue should be interpreted in their context.
4, The principle of equity

Options :

68634041837. 1
68634041838. 2
68634041839. 3
68634041840. 4

Question Number : 60 Question Id : 68634010597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oS SHR® Fom F Sfimd € -
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3. HfafY & Weql B1 I ol ¥ AReA B Wi A1y
4. gl o1 fogid

Options :

68634041837. 1

68634041838. 2

68634041839. 3
68634041840. 4

Question Number : 61 Question Id : 68634010598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of the following, which is not correct regarding secondary evidence.

1. Copies made from or compared with the original

| )

. Oral accounts of the contents of a document given by some person who has himself seen it.

LIPS ]

. Counterparts of documents as against the parties who did not execute them.
4. Oral accounts of the content of a document given by some person who has not himself seen it.
Options :
68634041841. 1
68634041842. 2

68634041843. 3
68634041844. 4

Question Number : 61 Question Id : 68634010598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fecia® Hieg & aR J FafeRad § 3 o 98l 76l 6:
1. 09 9§15 715, Wil a1 S8 qa-id wio
2. U9 ogferd off T wiafl & gR1 fau 71U adast @l siddyg & HifEe Hied
3. &R & favg qxdsl & fauiia efqgd forgl- fearag =gl fbar
4. U ofed ol <02l H1efl §. GRT 1T TTU G310 & 3idas] & Hiidd e

Options :



68634041841. 1
68634041842. 2
68634041843. 3
68634041844. 4

Question Number : 62 Question Id : 68634010599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In which of the following section of Indian Evidence Act, 1872 the term 'conclusive proof is not used?
1. Section 112
2. Section 113

3. Section 41

4. Section 111

Options :

68634041845. 1
68634041846.2
68634041847. 3
68634041848. 4

Question Number : 62 Question Id : 68634010599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafaa 3 9 fag s § Frasfas e o1 3w & g gl

1. YT 112

| )

CURT113
3. URT 41

4 URT111

Options :

68634041845. 1
68634041846. 2
68634041847. 3
68634041848. 4

Question Number : 63 Question Id : 68634010600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Under which Article of Indian Constitution., Goods and Service Tax Council can be is constituted :-

1. Article 279
2. Article 279A
3. Article 280
4, Article 281

Options :

68634041849. 1

68634041850. 2

68634041851. 3
68634041852. 4

Question Number : 63 Question Id : 68634010600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRGSy & 5 sree & sicria ara SR Ja1 o uRwg &1 76 fFarmar g

1. 3=5¢ 279

394 279A
3. 3J=54 280
4. 3T=94 281

Options :

68634041849, 1

68634041850. 2

68634041851. 3
68634041852. 4

| )

Question Number : 64 Question Id : 68634010601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The term "White collar erime' was coined by :
1. Aristotle
2. Edwin Sutherland

3. Immanual Kant

4. Salmond

Options :
68634041853. 1



68634041854. 2
68634041855. 3
68634041856. 4

Question Number : 64 Question Id : 68634010601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hh U SORTE Ysa faha fagm
1. I,
2. USId9 9araivs
3. SHMTA B

" 2

Options :

68634041853. 1
68634041854. 2
68634041855. 3
68634041856. 4

Question Number : 65 Question Id : 68634010602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Offence of money laundering is

1. Traditional Crime

| )

. Moral Crime

Lad

. White Collar Crime
4. Social Crime

Options :

68634041857. 1
68634041858. 2
68634041859. 3
68634041860. 4

Question Number : 65 Question Id : 68634010602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 Se 1 F &
1. TR ORTY
2, A SURTY
3. YhaUIRT 3URTY
4. QST 3{URTY

Options :

68634041857. 1
68634041858. 2
68634041859. 3
68634041860. 4

Question Number : 66 Question Id : 68634010603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R :
Assertion A : Duties may be classified mto primary and secondary duties.

Reason R : Duties are subject to classfication.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

b2

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634041861. 1
68634041862. 2
68634041863. 3
68634041864. 4

Question Number : 66 Question Id : 68634010603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 HU AU T §, UF SHUSHUT (Assertion A) & $9 1 [T § T GERI 3P BRI (Reason R)&H T
.

HftpYT A: Tedodl @ ufie iR fidtoe deal & w9 § arifed favan o 9aar g

HRUTR: Hdad iRl & fauansfi= &
Sudad HYE & Tae 4, 19 AU T el & I 999 39gad IR 31 90 iy

1. A 3R REF 98 € AR R. A DI Tel IR §

2. A SRR G 6l 8 SRR, A DI To! IR 61 §
3. AT E AfGAR 3T B
4 ANTIEAFTIRTTE

Options :

68634041861. 1
68634041862. 2
68634041863. 3
68634041864. 4

Question Number : 67 Question Id : 68634010604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : A person in possession of a thing 18 deemed to be the owner of the thing.

Reason R : Possession 1s as good as ownership.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634041865. 1
68634041866. 2
68634041867. 3
68634041868. 4

Question Number : 67 Question Id : 68634010604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 HU AU T §, UF SHUSHUT (Assertion A) & $9 1 [T § T GERI 3P BRI (Reason R)&H T
.

i@y A fordl! oofed & o ofs 15 o © df 94 39 a%g &1 WIH B 9 5|

PR R: AIIL, Wi a9 el 2|
Sudad HYF & fae 4, 19 AU T faeedl & I 999 39gad IR 31 90 iy

1. AR REH GO T IR R AT TE TR &

2 AIRRIT IS RR AT T AR TS &
3. AT E AfGAR 3T B

4 ANTIEAPTIRITE

Options :

68634041865. 1
68634041866. 2
68634041867. 3
68634041868. 4

Question Number : 68 Question Id : 68634010605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Precedent 1s like a gold m a mine.
Reason R : It has to be searched in law reports.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634041869. 1
68634041870. 2
68634041871. 3
68634041872. 4

Question Number : 68 Question Id : 68634010605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 HU AU T §, UF SHUSHUT (Assertion A) & $9 1 [T § T GERI 3P BRI (Reason R)&H T
T

Y= A: gafoig @F & w@of S g

HRUT R: 34 3t Rulel § @ie S =fgu |
SUdad HYF & faie 4, 19 AU T faeedl & I 98! 3R &1 9949 SITau;

1. AR REH GO T IR R AT TE TR &

2 ARREFI I E 3R R AT Il AR Tai &
3. ATIE AR S A
4 ANTIEAPTIRTT S

Options :

68634041869. 1

68634041870. 2

68634041871. 3
68634041872. 4

Question Number : 69 Question Id : 68634010606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :

Assertion A : X opens a hotel in front of Z's hotel. All the customers of Z's patronize X. Z cannot claim
damages
Reason R : There is latin maxim - Damnum Sine Injuria

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R 1s correct

Options :

68634041873. 1
68634041874. 2
68634041875.3
68634041876. 4

Question Number : 69 Question Id : 68634010606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 HU AU T §, UF SHUSHUT (Assertion A) & $9 1 [T § T GERI 3P BRI (Reason R)&H T
T

HHYT A: X T 2 & I gica @ial Z % 94 U8 X &1 TR&0 3R TegIT UeH $id ol Z B9l
&ffereT &1 21a1 ] X Jodl 6|

BRI R: SHAY 915 5o/ dicd Pead ol
Sudad $YF & Tellie 4. - 40 7Y f[ddedl T 9 g1 3R &1 994 Bl

1. AR REH TOE IR R AT TE TR &

2. ASIRREHI A 8 3R R, A DI TSl AR 8 §

3. A9 e Al R 3T B

4. AT AfPIR I B

Options :

68634041873. 1
68634041874. 2
68634041875. 3
68634041876. 4

Question Number : 70 Question Id : 68634010607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : India. that 1s Bharat shall be Union of States.
Reason R : States have right to recede.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634041877. 1
68634041878. 2
68634041879. 3
68634041880. 4

Question Number : 70 Question Id : 68634010607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i1 g1 U (AU T G, Ud SHUHUT (Assertion A) & ¥4 1 [¢Gd § Al GHRI 3HDb HRUI (Reason R)d Y
i}

Y A: 3. S i YRd &, Iogi &1 9w g

BT R: o4} B AT B BT AHR B
Sudad HYE & fTaie 4, 19 AU T el § I 999 39ga IR 31 90 iy

1. ASIRREF T IR R AT TSI AR &

2. ARR I I S SRR, A B T ure T &

3. ATd e PR TS

4 ANTARABGIR TS
Options :
68634041877. 1
68634041878. 2

68634041879. 3
68634041880. 4

Question Number : 71 Question Id : 68634010608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion A and the other 13 labelled as Reason R :
Assertion A : Laws are only valid if they are just.
Reason R : The aim of law is to secure Justice.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

b2

. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 1s correct

Options :

68634041881. 1
68634041882. 2
68634041883. 3
68634041884. 4

Question Number : 71 Question Id : 68634010608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i1 g1 U (AU T G, Ud SHUHUT (Assertion A) & ¥4 1 [¢Gd § Al GHRI 3HDb HRUI (Reason R)d Y
i}

3firmye A. fafirl daa 9 3y € oie 3 IfRa &)

BRI R faftr o1 @eg Imfoe =g S 8|
Sudad HYF & fTaie 4, 19 AU T el § I 999 39gad IR 31 90 iy

1. ASIRREF T IR R AT TSI AR &

2. ARR I I S SRR, A B T ure T &

3. ATd e PR TS

4 ANTARABGIR TS
Options :
68634041881. 1
68634041882. 2

68634041883. 3
68634041884. 4

Question Number : 72 Question Id : 68634010609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Government of India is a distinct legal personality
Reason R : Because it 1s capable of suing and being sued.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

b2

. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 1s correct

Options :

68634041885. 1
68634041886. 2
68634041887. 3
68634041888. 4

Question Number : 72 Question Id : 68634010609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i1 g1 U (AU T G, Ud SHUHUT (Assertion A) & ¥4 1 [¢Gd § Al GHRI 3HDb HRUI (Reason R)d Y
i}

HUPYT A: YR TRPR U Gy f3fde afdaa s

BRU R: 11 T8 TTe PR YDl ¢ SR T8 W IS g1 ol Hapell &
Sudad HuF & faie 3, A9 ST T el § I 999 39gad o) 31 90 iy

1. ASIRREF T IR R AT TSI AR &

2. ARR I I S SRR, A B T ure T &

3. ATd e PR TS

4 AT APIRTT S

Options :

68634041885. 1
68634041886. 2
68634041887. 3
68634041888. 4

Question Number : 73 Question Id : 68634010610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the provisions of the Indian Contract Act. 1872 in chronological order sectionwise.

A Bailment
B. Pledge

C. Agency
D. Indemmnity
E. Guarantee

Choose the correct answer from the options given below :

1.LA,B.E.D.E
22D EBAB. E
3.D.E.B.C.A
4. A C,B.D.E

Options :

68634041889. 1

68634041890. 2

68634041891. 3
68634041892. 4



Question Number : 73 Question Id : 68634010610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR Ilder 3fe-g9.1872 & U= &l UNI-dR HIashd 4§ cgaied & ;

A. SHEd BT Ja
B. HfHaa
C. Uoidt / e
D. ifergfed
E. TIREL
i fau U f[doedl § O T8l 3T &1 944 Bl

1A B EBDE

[ ]

BB AR E
3.D.E.B.C.A
4. A C.B,D.E

Options :

68634041889. 1
68634041890. 2
68634041891. 3
68634041892. 4

Question Number : 74 Question Id : 68634010611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statement(s) and answer

A. Libel is a defamation is some permanent form

B. Slander 15 a defamation in a transient form

C. Libel 1s criminal offence as well as civil wrong

D. Under the Indian Law. only libel 1s criminal offence
E. Slander 1s a criminal offence as well as civil wrong

Choose the correct answer from the options given below :
1.A.B.E
2. B.G.D
A 8 0 5 2
4. B.D.E
Options :
68634041893. 1

68634041894. 2
68634041895. 3



68634041896. 4

Question Number : 74 Question Id : 68634010611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ho! iy o 997 Sifo -

A, ST O P W =Y & A6l 6|

B. firamare sieqerdl 9 &t aHel- B

C. YR fafyr & o sauH-a g SRS $a B

D. frgaare SMTaRife oa & ry-ary fafae sroRme o 81

- fau e faw et & 9 Hel ST &1 93U Difen -

1.LAB.E

| ]

B, gD
5. A8,
4 B.D.E

Options :

68634041893. 1
68634041894. 2
68634041895. 3
68634041896. 4

Question Number : 75 Question Id : 68634010612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement and answer

A. Theft defined under section 378 of I.P.C.

B. Extortion defined under Section 381 of I. P. C.

C. Robbery is either theft or extortion under section 390 of I. P. C.

D. Dacoity 1s defined in section 391 of I. P. C.

E. Making preparation to commit dacoity 1s punishable under section 399 of IPC.

Choose the correct answer from the options given below :
1.LAB.C.D
2.B. G, I E
33JA.B.C
4. A C.D.E

Options :
68634041897. 1



68634041898. 2
68634041899. 3
68634041900. 4

Question Number : 75 Question Id : 68634010612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el HUHY BT 90 Sifoly :

A, STSUR ST YR 378 H IR gRTET ©

B. ASUR BT YRT 381 H IRl ST RN B

C. 3MEURE B YRT 300 F T A1 AT =R § S1uar ST B L.

D. 3 & URT 301 T SehdT UfRHTRE 21

E. SHdl &1 Rl ST TS P URT 300 & HciTd qUSAa g

=i fau Y fawedi & ¥ Hel SR &1 97U Dife -

1.A B C.D

[ ]

B, TR
3.JAB.C
4. A, C.D.E

Options :

68634041897. 1
68634041898. 2
68634041899. 3
68634041900. 4

Question Number : 76 Question Id : 68634010613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Articles of the Constitution of India in correct sequence on first come basis.

A. Power of Parliament to provide for the establishment of certain additional courts.
B. Special address by the President

C. Extension of Jurisdiction of High Court to Union Territories.

D. Language to be used in Parliament.

E. Power to carry on trades etc.

Choose the correct answer from the options given below :
1.LA,B,C,D.E
2B.D.C.AE
3.B.D.E.A.C

4. E.D.C.B.A

Options :

68634041901. 1
68634041902. 2
68634041903. 3
68634041904. 4

Question Number : 76 Question Id : 68634010613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRA & AU & FafaRad sr=sal o 9ad ygd, auyH & YR B oaieyd SIfeu:

A BIaug SfdRed T/l &1 RIY &3 S S9a D1 Uidd
B. Tyfc & fa2iy Sifdyumeor

C. 3= gl & SANUSR &1 J9 Isga | fawr

D. I9<¢ H YOI &1 S arelt HIel

E. PRIER Sdliq H- B Ufad

4 fau U fasedi O O I51 TR &1 9094 BHifelu -

1LAB.C.D.E
2. B, D, C A E
3B.D.E.A.C
4. ED.C.B.A

Options :

68634041901. 1

68634041902. 2

68634041903. 3
68634041904. 4



Question Number : 77 Question Id : 68634010614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sequentially arrange the grounds for disqualification under Article 102 of the constitution of India.

A. Undischarged insolvent

B. Not a citizen of India

C. Unsound mind

D. Holds any office of Profit

E. Disqualified by law made by Parliament

Choose the correct answer from the options given below :

1. AB.C.D.E

| )

E.DABE
A B TF G 5 N )
4.D.C.A.B.E

Options :

68634041905. 1
68634041906. 2
68634041907. 3
68634041908. 4

Question Number : 77 Question Id : 68634010614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR & HAYH & =5g 102 B i FIaal & YRI &1 HHER o0aied S ;

A, 3eIfed fearfemn

B. HIRd &1 AR gl

c. faféra afess

D. @Y 1 Ug YR Sl &

E. 99< g (Afifa fafe g faaig

fFafdad faeedl © ¥ I8! 3Tk &1 99 Hifoid ;

1.LAB.C.D.E

2

A DLABUE
3.D.C.B.A.E
4.D.C.A.B.E

Options :

68634041905. 1
68634041906. 2



68634041907. 3
68634041908. 4

Question Number : 78 Question Id : 68634010615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sequentially arrange the freedoms given under Article 19 of the Constitution of India.

A Speech and Expression.
B. Residence

C. Movement

D. Association

E. Assembly

Choose the correct answer from the options given below :

1LAB.C.D.E
ZAB DCE
Ao H DG B
4 A EDB.C

Options :

68634041909. 1
68634041910. 2
68634041911. 3
68634041912. 4

Question Number : 78 Question Id : 68634010615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRd & AU & sg=ve 19 H €1 718 Waaarsi & pHMER Faiud Sifee:

A 1% 3R sl
B. A

C. Haad

D. 99

E. 94U

i fau e faeed O T I8l STR &1 99+ B : |

1A B ECBE

[ 2]

.A.B.D,C,E

3JAEDCB

4 A E.D.B.C



Options :

68634041909. 1
68634041910. 2
68634041911. 3
68634041912. 4

Question Number : 79 Question Id : 68634010616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sequentially arrange the Sections given in the Cr. P. C. 1973

A. Tender of Pardon to accomplice
B. Compounding of offences

C. Court to be open

D. Legal aid to accused

E. Withdrawl from prosecution

Choose the correct answer from the options given below :
1.A,D.B.C.E
2.DABB.LC
3. DA€, B.E

4. E C.B.A.D

Options :

68634041913. 1
68634041914. 2
68634041915.3
68634041916. 4

Question Number : 79 Question Id : 68634010616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TSR, 1973 T €1 715, 4TS &1 HUMHR Hafeyd Bifoig:

A. AT WRgd &A1 GeTaRIe 8T B |
B. Pl Bl FHTUTHRI

C. =TT &1 Gl 6 6

D. HRITUT B! BT Ferddl

E. AT a19d o1

i fau U f[daredl 1 O 9al 3Tk &1 944 $ifefu ;

1LADB,CE

2D ABEC

3D AC B E

4. E.C.B.A.D
Options :
68634041913. 1
68634041914. 2

68634041915. 3
68634041916. 4

Question Number : 80 Question Id : 68634010617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Freedom of speech and expression is not absolute under Indian Constitution.

Statement II : The State can make law imposing reasonable restriction on the exercise of right of freedom of
speech and expression in the interest of public moralty.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

| )

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634041917. 1
68634041918. 2
68634041919. 3
68634041920. 4



Question Number : 80 Question Id : 68634010617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRR
HY I: HRAM Alde 5 a1ep SiR SHiisaiad &1 Waddl ey 781 g

BHYTIL: n{%u. qie Aldedl & fgd 8 1@ SR sifiouldd & SR & SFEWN W dowid iddd SRt
TR IFAT 5

Suded HYF & MTaie o, A9 ST T fdeedl § I 969 399 o) 31 90 il
1. B RIS Tl &

2. BYTI AR 11 S TTod &
3. BYT 1 el 6. Al U 11 TTad §
4. BYT17TAd ©. Wb BYT I Tl &

Options :

68634041917. 1
68634041918. 2
68634041919. 3
68634041920. 4

Question Number : 81 Question Id : 68634010618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I :Hugo Grotius is father of Public International Law.
Statement IT : Hugo Grotius discussed about law of war and peace in his book De Jure Belleac Pacis'
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement ITI are correct

| )

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I iz incorrect but Statement I is correct

Options :

68634041921. 1
68634041922. 2
68634041923. 3
68634041924. 4



Question Number : 81 Question Id : 68634010618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 ST puE Ry M E:
T2 1 T AR e siRfga fafy & AT §)
B I1: LI AR A 39+ [ of W adsd UdN 4 45 &R A1 & 9 & =i B |
Suad HYF & ais 4, A QU T f[deedl 1 3 999 39gad Su) 3l o0 Bilu;
1. BYT1 AR 1 I e €

2. BYFT AR 11 S TTeid &
3. HYT I el 8. A YT 11 7Tdd §
4. DY 1TTAd &, AP PUT I Tl ©

Options :

68634041921. 1
68634041922. 2
68634041923. 3
68634041924. 4

Question Number : 82 Question Id : 68634010619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A design when registered shall be registered as of the date of the application for registration of
design.

Statement IT : When a design 1s registered. the registered proprietor of the design shall have a copyright m the
design during Twenty years from the date of registration.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

[ B

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement IT is correct
Options :

68634041925. 1
68634041926. 2



68634041927. 3
68634041928. 4

Question Number : 82 Question Id : 68634010619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fa gy fRumu .

DY I Tl [SSIg D1 Usiigd [6g1 S o 34 TSuig & Yol & iU 3ae & ariig aF
SITET |

HY 11: 56 UD [Solg- Yoilpd (a1 offdl &, ol (S5 & Usiigd WIRTEex & UM Uol @0l ] dRE 9
20 I @1 3af¥ & Ty f$e18 &7 ulafraiieR ghm|

Sudad HYE & ae 4, 19 AU 7 ool & I 999 39940 IR 31 90 iy
1. B AR IS 9el &

2 BT AR IS Ted &
3. BYF 1 ol 8. A HYF 11 7Tad ©
4. BYT17TAd &, Wb BYT I Tl &

Options :

68634041925. 1
68634041926. 2
68634041927. 3
68634041928. 4

Question Number : 83 Question Id : 68634010620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The Share capital of a company limited by shares shall be of two kinds.

Statement II : Preference share capital, with refence to any company limited by share. means all share capital
which it not equity share capital.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false

3. Statement I is correct but Statement IT is false

4. Statement I is incorrect but Statement II is true



Options :

68634041929. 1
68634041930. 2
68634041931. 3
68634041932. 4

Question Number : 83 Question Id : 68634010620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬁﬁﬁﬁqﬁq%
HY I WERI ERT I el Su=1 @1 oiwr Uil &f WpR B gl |

HU 11: TR §RT Ui 5 S & w2 & wufirear o doft &1 arf @t 37 ofey ol 9 g o gfde
S US Al B |
Sued HYF & Telis 4, A [GU T fdeedl 1 9 999 39gad 3u) &1 o0 Bilu;

1. B AR IS 9el &

2. BYF1 AR 11 S Terd &
3. BYF 1 ol 8. A HYF 11 7Tad ©
4. DU 1 7T ©. b BYUH I Tel &

Options :

68634041929. 1
68634041930. 2
68634041931. 3
68634041932. 4

Question Number : 84 Question Id : 68634010621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Reverse onus clause like "shall presume" has been criticized by many scholars as violative of
presumption of mnocence.

Statement IT : Those offences which contain reverse onus clause do not require the presentation to establish
any fact beyond reasonable doubts.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true

(3=

. Both Statement I and Statement IT are false

L¥ 5]

. Statement I 13 correct but Statement II is false

4. Statement I is incorrect but Statement II is true

Options :

68634041933. 1
68634041934. 2
68634041935.3
68634041936. 4

Question Number : 84 Question Id : 68634010621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fa gy fRumu .

BY I b H TUS Bl "Ja A D & §gd fagHi GRT FaY 811 ®1 qdURUN &1 SRivTaR] 81 &
TR TR AT B 15 6

BYA I1: T P, o8 acl ogohH WUS dlay 8. DI G eiTd Sael & IR 9l & e gRI ®IIUd
B DI T HT Tl B
Sudad HYE & ae 4, 19 AU 7 ool & I 999 39940 IR 31 90 iy

1. B AR IS 9el &

2. BYTI AR I S TTod &
3. BYF 1 ol 8. A HYF 11 7Tad ©
4. BYT17TAd &, Afp- BYT I Tel &

Options :

68634041933. 1
68634041934. 2
68634041935. 3
68634041936. 4



Question Number : 85 Question Id : 68634010622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : Rape and gang rape of a woman under twelve years of age 1s punishable with death.
Statement IT : Gang rape of a women under Sixteen years of age is punishable with death.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both Statement I and Statement I are correct
2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement I1 1s correct
Options :
68634041937. 1
68634041938. 2

68634041939. 3
68634041940. 4

Question Number : 85 Question Id : 68634010622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEEAE AT RIS
BYA 1. TR 9N I DY 31 $I OIS BT IR J1 AH[eP Sale R H1d &1 Toll § GUs19 BHT |
B IL-5FE T4 4 DY 1Y B A BT I8 SalcpR HId B Holl § GUS-1g 81T |
Sudad HYE & ae 4, 19 AU 7 ool & I 999 39940 IR 31 90 iy

1. PYUT1 AR 1L ST TEl €

2. BYTI AR I S TTod &
3. BYF 1 ol 8. A HYF 11 7Tad ©
4. BYT17TAd &, Afp- BYT I Tel &

Options :

68634041937. 1
68634041938. 2
68634041939. 3
68634041940. 4



Question Number : 86 Question Id : 68634010623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : 8 Tudges bench sitting for deciding any case involving a substantial question of law as to the
interpretation of the Constitution of India i1s a Constitution Bench.

Statement IT : An appeal shall lie to the Supreme Court from any judgement, final order or sentence in a
criminal proceeding of High Court in the territory of India if the High Court has on appeal reversed an order of
acquittal of an accused peron and sentenced him for life imprudent.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement IT is correct

Options :

68634041941. 1

68634041942. 2

68634041943. 3
68634041944. 4

Question Number : 86 Question Id : 68634010623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁ%aiaiwﬁqw%

BYA I U G &1 oed] B34 Tl fafe) & farsit Teayul 9y &1 Fug &= ard [ arg &
o= arelt 3416 AT @1 89 31 Wiy 39 Her W ¢

B 11: Tf I=3 ATy | Stte W) fed HRIfd oufed & a3 819 & 1Y &I Uae 6a1 8 Hyar3d
ol HRIGE D Tofl <1 & O YRd & uftas & (el ey o1 sTaRifte sriag! & fadl ol
Sifam fofa o1 gon & favg I=9aq e § andie gl

Sued HYF & Telis 4, A [GU T fdeedl 1 9 999 39gad 3u) &1 o0 Bilu;
1. B 1 AR IS 9el &

2. BYF1 AR 11 S Terd &
3. BYT 1 el 8. A YT 11 7Tad §
4. DY 1TTAd &, Wl PUT I Tl &

Options :

68634041941. 1
68634041942. 2
68634041943. 3
68634041944. 4

Question Number : 87 Question Id : 68634010624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Acts on Environment Protection in ascending order of their enactment:
A Forest (Conservation) Act
B. Biological Diversity Act
C. National Green Tribunal Act

D. Public Insurance Liability Act
E. Water (Prevention and Control of Pollution) Act

Choose the correct answer from the options given below :
1.A,B,C,D,E Only
2.E.D.,C.B, AOnly
3.D.E.B. C.A Ounly

4. B, A D, B, € Only

Options :

68634041945. 1
68634041946. 2
68634041947. 3



68634041948. 4

Question Number : 87 Question Id : 68634010624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafaiad gafawor e il & g9 Aftfaaa & IR o0 § soafud $ife -

A. T (FReon) SHfufay

B. oig fafaear sfafam

C. YT TR Ui sfef-rm

D. 5 &A1 Sgar fufas

E. SId (WgNUI $I Ay SR ez sy

i fau U f[daredl 1 O 9al 3Tk &1 944 $ifefu ;

1. PGAA.B.C.D.E
2. HAAE.D.C.B. A
3. FAUD.E.B.C. A

4. HATE.A.D.B.C

Options :

68634041945. 1
68634041946. 2
68634041947. 3
68634041948. 4

Question Number : 88 Question Id : 68634010625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transfer of Property Act applicable on the

A. immovable property

B. movabile property

C. Non-testamentary instrument
D. Testamentary instrument

E. Future property

Choose the correct answer from the options given below :

1. A,.B. D, E Only

[ )

.B. C.E Only
3.A.B.C Only

4. A D, E Only

Options :



68634041949. 1
68634041950. 2
68634041951. 3
68634041952. 4

Question Number : 88 Question Id : 68634010625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 1 geaiaRor HfUfae R s 8

A 3{dd 9ufd

B. 9d Uufd

c. TRgdad! faoa
D. gl faea

E. Hid™ Iy

i< fou e fasedi O 9 9ol 3Tk &1 99 Bifoy ;
1.9Pdd A.B.D.E
2. BB, C, E
3. AU A, B.C
4. PAT A, D, E

Options :

68634041949. 1
68634041950. 2
68634041951. 3
68634041952. 4

Question Number : 89 Question Id : 68634010626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In order to argue successfully that the defendant has generally been negligent. the claimant must establishe.

A. There has been breach of duty of care on part of the defendant

B. Claimant owes a duty of care

C. Breach of duty of care by claimant

D. The defendant owes a duty of care to the claimant

E. The breach of duty of care resulted in the harm suffered by the claimant.

Choose the correct answer from the options given below :
1. A, C, E Only
2.D.B.AOnly
3.A.D.E Only

4.D. B, C Only

Options :

68634041953. 1
68634041954. 2
68634041955. 3
68634041956. 4

Question Number : 89 Question Id : 68634010626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SEI19 G& B ATIRATE! Wied D P oY Srarehdl &1 Hifee BT =T

A. §91d Y& D 3R F SE-HId P oo DI Jeeid g3 &

B. gIaTad| & ¢@yTd @l Sifdd el

C. IaTad| gRI ¢E-HId & Haod BT JeaioH

D. 9919 U& P1 Sardbd| P Uid SE-HIdl & Hdod & |

E. $9-UTT & Sdiod & 3caig ol URUIH garedl gRI1 gl / &t Y- & &0 1 gail|

i< fou e fasedi O 9 9ol 3Tk &1 99 Bifoy ;
1.9dd A, C.E
2. Hdd D, B.A
3. A, D.E
4.%daD, B, C

Options :

68634041953. 1
68634041954. 2
68634041955. 3
68634041956. 4



Question Number : 90 Question Id : 68634010627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify statements which are related to white collar crime.

a. White collar crime is committed by persons of high status in society.

b. Emotional element is always involved in white collar crimes.

c. Motive behind white collar erime is to take revenge.

d. White collar crimes are committed during pursuing business profession.
¢. Object behind commission of white collar crime 1s to fulfil basic needs.

Choose the correct answer from the options given below :

1. A. E Only

| )

. C.D Only
3. B. C Only

4. A. D Only

Options :

68634041957. 1
68634041958.2
68634041959. 3
68634041960. 4

Question Number : 90 Question Id : 68634010627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Theur AR 4 Yafid Sy &1 UgdH Siful:

a. BT 3ORTY THTS & 3= g0l & Al gRI {60 & g

b. "HIGTED @ SH ThauiRl g & Imfiyd Igai ¢

c. TH U1 MRTe & Uies Hdod ggal a- g |

d. THEUre 3MORTY SIady SHRauHy &Y 91d 81

c. UHEUIRT S{RTE B BT 10 YR =l Bl IR BAT 6 |

i< fau T faeedl o O 9ol 3R &1 99 Hifoy ;
1.PITAE
2. PadC, D
3. % B, C
4. PIAA,D

Options :
68634041957. 1
68634041958. 2



68634041959. 3
68634041960. 4

Question Number : 91 Question Id : 68634010628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Parliament cannot delegate to the executive.
A. Essential legislative power
B. Non essential legislative Power

C. Power of formulation of legislative policy
D. Power to repeal a law

Choose the most appropriate answer from the options given below :

1.A.B. C.D Only
2.A. C&DOnly
3. B Only
4.B & D Only

Options :

68634041961. 1

68634041962. 2

68634041963. 3
68634041964. 4

Question Number : 91 Question Id : 68634010628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

95, HrUIfieT &1 Yariferd Tel &3 96dl g

A, 320 (quTdr Tfad

B. 1a=g® fqemdl giad

c. faumdt Hifg fafo =t wifdg

D. [t [afe ot R o= o wiidd

19 f3u Tt fasedi § 9 &l IUged SR &1 999 DifIL:
1.$dAA,B.C.D
2. HadA. C IR D
3. Bdd B
4.%ad B 3R D

Options :
68634041961. 1




68634041962. 2
68634041963. 3
68634041964. 4

Question Number : 92 Question Id : 68634010629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statement and answer

A. Delay in filing a suit can be condoned under section 3 of the Limitation Act
B. Delay in filing a suit can be condoned under section 5 of the Limitation Act
C. Delay in filing a suit can be condoned under order 6 rule VI of CPC.

D. Delay in filing a suit cannot be condoned

Choose most appropriate answer from the options given below :

1. A. B, C Only

| )

.A.B.D Only

Lad

.A. C.D Only
4. D Only
Options :
68634041965. 1
68634041966. 2

68634041967. 3
68634041968. 4

Question Number : 92 Question Id : 68634010629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol HHHY DT I HIfY -

A. R HfIFTE Bt URT 3 & idild 918 SER & | o3 @1 & [har o godr gl
B. ORI 200 Bt YR 5 & 3iTid 918 SR &34 § <31 @ & a1 ST I&dr gl
C. TR &1 0.6.R. VI & 3id¥id g1g SR &3 H 31 &1 &1 fasar o Iadi 2|

D. 91 SR ®- H 331 ®1 &m1 e fopdl off 9a&dl g

19 fdu T fas el O § a9 I9ged SR &1 99 Hifolt:
1. BAAA, B, C
2. A A, B.D
3.Pad A, C.D
4.%adD

Options :




68634041965. 1
68634041966. 2
68634041967. 3
68634041968. 4

Question Number : 93 Question Id : 68634010630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the principles are connected with Environment law
A. Polluter pays principle
B. Precautionary principle

C. Inter-generational equity
D. Principle of equity

Choose the most appropriate answer from the options given below :

1. B, C. D Only

[ ]

.D.A. B Only

Lad

.A. B. C Ounly

4.A.B.C.D Only
Options :
68634041969. 1
68634041970. 2

68634041971. 3
68634041972. 4

Question Number : 93 Question Id : 68634010630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&I 4 figia valazor fafy & d&fta &

A GRT YT R
- 3 Nt
C. SHR-dIgHTd T

D. Il &1 [ gid
i fau U fae el § O 98 U TR 1 99 BIfwIU:

1. ®dd B, C.D
2. $au D, A. B
3.PddA.B.C
4. PAUA.B.C.D




Options :

68634041969. 1
68634041970. 2
68634041971. 3
68634041972. 4

Question Number : 94 Question Id : 68634010631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LIST I
A |Prize courts 1. |Paquete Habana case
B. |Asylum II. |Castionmi
C. [Extradition II1. [Zamora Case
D._ [Customary Internationa Law]| IV [Corfu Channel Case

Choose the correct answer trom the options given below:

1. A-I. B-IL C-IIL. D-IV

| ]

AL B-IV. C-I1, D-I
3. A-IV, B-IIL C-II. D-I
4. A-I1, B-1, C-II1. D-IV

Options :

68634041973. 1
68634041974. 2
68634041975. 3
68634041976. 4

Question Number : 94 Question Id : 68634010631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

AT 1 T 1
A [QREHR ey 1. [diad gaigdlg
B. RO 1. [maicaH]
C. [oreuo 111 [SHT arg
D. [qYFTd SiqIp fafd] 1v. [@1% a4 aig
FafeRad fasedl O © 981 STk &1 994 Sifoy ;

1. A-I. B-II. C-III. D-IV

| o

AL B-IVL. C-I1L D-I
3. A-IV. B-IIL. C-II. D-I
4. A-IL. B-I. C-III. D-IV

Options :

68634041973. 1
68634041974. 2
68634041975. 3
68634041976. 4

Question Number : 95 Question Id : 68634010632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
. [Raght of the child I. JArticle 27 of ICCPR,, 1966
Equality before the law | II. JArticle 24 of ICCPR, 1966
Freedom of association | II1. |Article 22 of ICCPR., 1966
. |Faghts of minorities IV, |Article 26 of ICCPR., 1966

w] fo] Ivs]

Choose the correct answer trom the options given below:

1. A-IIIL, B-IV. C-I. D-II

| ]

. A-L B-III, C-IT. D-IV
3. A-IL B-IV. C-III. D-I
4. A-I. B-II, C-II1. D-IV

Options :

68634041977. 1
68634041978. 2
68634041979. 3
68634041980. 4



Question Number : 95 Question Id : 68634010632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

T I Tqt I
A [gTs! & YR 1 [ARUdiaR 1966 BT HE5G 27
B. [[af% & gug g | 1 [srediidism 1966 @1 siwsa 24
C. [49 o Toaadl 11 [ AR 1966 B dads 22
D. [seadas! & HUBR| IV, [srsiiidisr 1966 &1 3 =5s 26

ffafad faeedl § U Ug! SO &1 99 Sl -

1. A-IIL B-IV. C-I, D-II

|

. A-LB-IIIL C-I1. D-IV
3. A-IL. B-IV., C-III, D-I
4. A-1, B-II. C-III., D-IV

Options :

68634041977. 1
68634041978. 2
68634041979. 3
68634041980. 4

Question Number : 96 Question Id : 68634010633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
R Commencement of arbitral I Sec. 294 of the Arbitration
"7 lproceedings " land Conciliation Act, 1994
B. [Finality of arbitral award g oo 2V of Be Jabiratoncang

Conciliation Act, 1996
Sec. 35 of the Arbitration and
Conciliation Act, 1996
Sec. 21 of the Arbitration and
Conciliation Act, 1996

C. |Place of arbitration I

D. |Time limit for arbitral award V.

Choose the correct answer from the options given below:

1. A-III, B-1. C-II. D-IV

[ ]

CA-IV. B-1, C-11, D-III
3. A-III, B-1I. C-IV. D-I
4. A-IV, B-III. C-II. D-I

Options :



68634041981. 1
68634041982. 2
68634041983. 3
68634041984. 4

Question Number : 96 Question Id : 68634010633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

T T T I
A, [TrerRET St &1 ey B 3R T8 Bl 4RI
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1. A-III, B-I. C-II. D-IV

b2

CA-IV. B-1, C-I1, D-III

CA-IIL B-ILL C-IV, D-I

L¥ 5]

4. A-IV, B-III. C-I1. D-I

Options :

68634041981. 1
68634041982. 2
68634041983. 3
68634041984. 4

Question Number : 97 Question Id : 68634010634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
A |Appeal I |Sec.114 of CPC
B. [Reference II. |Sec.113 of CPC
C. [Feview III. |Sec.115 of CPC
D. [Revision IV |Sec.96 of CPC

Choose the correct answer from the options given below:

1. A-I. B-IL C-IIL. D-IV

| E)

CA-L B-II, C-IV. D-III
3. A-III, B-IV. C-II, D-I
4. A-IV. B-1I. C-1, D-III

Options :

68634041985. 1
68634041986. 2
68634041987. 3
68634041988. 4

Question Number : 97 Question Id : 68634010634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg
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A [erdie I [URT114
B. [dgy I |87 113
C. [gHTET TII. [4RT 115
D. [gFgEmea [ 1v [uri o6
FfaiRad f[deedl § O Uel 3ok &l 944 DI

1. A-I. B-II. C-III. D-IV

|

cA-LB-IL C-IV, D-IIT
3. A-III, B-IV. C-II. D-I
4. A-IV. B-I1, C-I, D-III

Options :

68634041985. 1
68634041986. 2
68634041987. 3
68634041988. 4



Question Number : 98 Question Id : 68634010635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

I Section 2(a) of the Biological
" |Diversity Act, 2002

Section 2(b) of the Biological

A [Biological Diversity

B. [Biological Resources I1. Diversity Act, 2002

C Bio-Survey and Bio- 1 Section 2({c) of the Biological
" |Utilization " Diversity Act, 2002

D. Benefit Claimers v Section 2(d) of the Biological

Diversity Act, 2002

Choose the correct answer from the options given below:

1. A-IL. B-IV. C-I, D-III

| B)

. A-IIL B-IIIL, C-IV. D-I
3. A-IL B-1, C-IV, D-III
4. A-IV. B-1I. C-III, D-I

Options :

68634041989. 1
68634041990. 2
68634041991. 3
68634041992. 4

Question Number : 98 Question Id : 68634010635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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g1 = 10
iy P— . éa???%mwzomﬁ
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1. A-II, B-IV, C-1, D-ITI

[ 2]

A-IL B-IIIL, C-TIV, D-I
3. A-IL B-I, C-IV, D-III
4. A-IV. B-II. C-III. D-I

Options :

68634041989. 1
68634041990. 2
68634041991. 3
68634041992. 4

Question Number : 99 Question Id : 68634010636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Sections 141 of the Indian

Fulentins Qs tion L |Reiidenice Act 1872
B [Examination - i - 1 Sections 140 of the Indian
" |chief " |Evidence Act. 1872
- ¥ -
C. [Witness to character IIT e IRt i e o]

" |Evidence Act. 1872
Sections 137 of the Indian|
Evidence Act, 1872

D. |Order of examination TXE:

Choose the correct answer from the options given below:

1. A-II. B-IV, C-III. D-I

| B)

CA-L B-TIV, C-III. D-II

[#5]

CA-IV. B-IILL. C-I1, D-I

4. A-I. B-II, C-III. D-IV



Options :

68634041993. 1
68634041994. 2
68634041995. 3
68634041996. 4

Question Number : 99 Question Id : 68634010636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-II, B-IV, C-III. D-I

[ 2]

CA-L B-TV, C-II1L. D-IT

[F5]

CA-IV, B-IIIL. C-I1, D-I
4. A-1. B-II. C-III., D-IV

Options :

68634041993. 1
68634041994. 2
68634041995. 3
68634041996. 4

Question Number : 100 Question Id : 68634010637 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
A Dunishment for sending offensive 1 |sec 66A of IT Act
messages
B. [Punishment for violation of privacy | II. |Sec. 66C of IT Act
. Pamiskmncut Soxiche wing by 1L [Sec. 66D of IT Act
personation
D. [Punishment for identity Theft IV |Sec. 66E of IT Act

Choose the correct answer from the options given below:
1. A-I, B-II. C-III. D-IV
2. A-IL B-L C-IV. D-III
3. A-L B-III. C-IV. D-II
4. A-I. B-IV. C-III. D-II

Options :

68634041997. 1
68634041998. 2
68634041999. 3
68634042000. 4

Question Number : 100 Question Id : 68634010637 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II, C-III. D-IV

| )

CA-IL B-LL C-IV, D-III

[F5]

CA-L B-IILL C-IV. D-IT
4. A-L. B-IV. C-1II, D-II

Options :



68634041997. 1
68634041998. 2
68634041999. 3
68634042000. 4



